= A
N = 0] &F AF S & AN A
20229 &= 20l AH LB H HIOI LAY =2 ~ HIO| QA =2
Al HIO| 4t 2 EA : BHO| A4S DF
MM HIOIL2 BAX 5= A&
e MAHAE ==°2 H0IQEdAH =4 (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
HHO| @ A = 97,667,274 46,199,539 51,467,735
= 5,500,000
g 23,943,000
& 68,224,274
HIOl @ &S Db 67,572,890 28,290,890 39,282,000
= 5,500,000
g 19, 143,000
o= 42,929,890
o229 SAX &5 Ad 44,928,100 18,512,100 26,416,000
= 5,500,000
Fag 19, 143,000
& 20,285,100
NHZE =9 HI0IE2AH =4 44,300,600 17,904,600 26,396,000
= 5,500,000
= 19,143,000
& 19,657,600
gojede 43 42=4 2,582,600 2,584,600 A 2,000
201 2Et24A Y| 40,600 40,600 0
01 AP 2t 2] d| 37,000 37,000 0
OgetE Al =2H| 34,000
Obio|¥e| 4838 3| 3,000
03 Al HH| 3,600 3,600 0
O2sEs CB0 £ 29 3,600
202 044l 3,000 3,000 0
01 2L I 3,000 3,000 0
OHIO|AF 2 HARFEX 3,000
203 SR F & 39,000 41,000 A 2,000
03 AIZH =& 2 =X H| 39,000 41,000 A 2,000
odiolee| 43 g2F&X 39,000
306 =2 2,500,000 2,500,000 0
01 s 32 2,500,000 2,500,000 0
OLESEUSAARNENEH EHZ 2,500,000
BHOI@D1e ol AN 13,330,000 13,380,000 A 50,000
306 212 100,000 100,000 0]
01 &2 100,000 100,000 0
OJlgoladcly st ALY X (HE) 50,000
OXNYAA ats=d olaEdAdd AR (HE) 50,000
308 AMXISHMSOIA 13,230,000 13,280,000 A 50,000
11 2B 2SNHUSHE AN EAIS Y| 13,230,000 13,280,000 A 50,000
OHI0l2 §8d3Y e Tz ) 29 450,000
OXXM-CHS &I NHESHAMAMA(HE) 12,780,000




M ox
40 5 4

CHHOI A = M
CHOI22 SAX &5 AE
CNAE =22 ghol

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
NEXSH AESRNIAALE RH(HS) 405,000 780,000 A 375,000
402 2I2H X201 M 405,000 780,000 375,000
01 2I2E 2 A B (RERTH ) 405,000 780,000 A 375,000
ONEXZHM MSIXNIANLE AF(UHS) 405,000
setEE il 24ds K& 860,000 960,000 A 100,000
306 2= 860,000 960,000 A 100,000
01 &= 860,000 960,000 A 100,000
Od4tstd &AM AL 360,000
Os=ttarsger 292 500,000
HIOIQEA SAEY JI=s&SSHEH HE 6,500,000 0 6,500,000
= 5,500,000
< 1,000,000
402 2I2H X201 M 6,500,000 0 6,500,000
= 5,500,000
< 1,000,000
02 QI E2AIS EZ (OIS ) 6,500,000 0 6,500,000
OHIOIQEA SHAEY J=aSstdH HE 6,500,000
= 5,500,000
=) 1,000,000
5 FOUAMAEHH HE 18,393,000 0 18,393,000
s 18,393,000
402 RI2EX20| ™ 18,393,000 0 18,393,000
s 18,393,000
02 LA THEALEZ(0IETHR) 18,393,000 0 18,393,000
Os FHYYAEHEH A8 18,393,000
s 18,393,000
S NALHHEH HE 2,030,000 0 2,030,000
s 750,000
< 1,280,000
403 XSS X201 & 2,030,000 0 2,030,000
s 750,000
= 1,280,000
01 X SHHX2E = 2,030,000 0 2,030,000
OFF XNALHEH A 2,030,000
s 750,000
< 1,280,000
HHOIQ =< OI3tOI0l e L S (MEAY) 200,000 200,000 0
306 ¢ 2 200,000 200,000 0
01 &= 200,000 200,000 0
OOl Z0ot3tdI0l e 29 200,000
0l SeiAH 3 235 627,500 607,500 20,000
gtole =Zelot =l 385,000 365,000 20,000




D HOIR4H = M

D HHOI 2 &H Tt

Al 22
EQ Hol22 SaX == &8
CHel: HIOIQ SeiAH 3HH 25 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
306 ¢ 2 385,000 365,000 20,000
01 &3 385,000 365,000 20,000
OBI0I2 2el0t M=l 385,000
HHOI2 HIAEIE Wz 152,500 152,500 0
306 423 152,500 152,500 0
01 =23 152,500 152,500 0
OHI0I2 HAEIYE izl 130,000
OLEI N0 EZXHA 22,500
ZEE Ao E =L st 90,000 90,000 0
308 A EHHSOIA 90,000 90,000 0
113/ 2SoHUHSZHEAEALS I 90,000 90,000 0
OFESE 238 3 24 90,000
HOIQ4Y ZELAEMA 2= 5,517,000 4,422,000 1,095,000
HHOIQAY DESZ2 22 Z¥E =8 5,067,000 3,767,000 1,300,000
=22Y JM¥Y Hio|I4E 54 120,000 90,000 30,000
307 glz2tol & 30,000 0 30,000
02 PIZtEHAHEE 30,000 0 30,000
O&= 2ARJJI =X Bl LE JH = 30,000
308 XXM SOIA 90,000 90,000 0
N 3IN2SUHUE3 LS A I 90,000 90,000 0
OHI0I2 AlMS HMEXE A 90,000
HOIQ4e SHS1 it 442,000 672,000 A 230,000
202 04l 2,000 2,000 0
01 S LHOIYI 2,000 2,000 0
Ottol2td AL &4 2 sE28s 0l 2,000
308 XX EHHSOIA 440,000 670,000 230,000
113/ 2SoHUHSZAEEALS I 440,000 670,000 A 230,000
OHloI201g 2HEE value-up A& ALY 440,000
DFIIEX B0l 4t HARIHEAY |4 615,000 415,000 200,000
308 XXM SO A 615,000 415,000 200,000
N 3JN2SUHUS3AHAE A 615,000 415,000 200,000
Ol & ABEYINY SSHEAEH 28X 135,000
O3 018 UESNZD A74dH 2EXE(HE) 100,000
O=2=2¥ First RO X & 100,000
OHOINE ¢Ed Rad S AEHE X& 80,000
OMEEE H0I2 |FaA 2= & MO &2+
dH 25 X2 (UHS) 100,000
O HES ddH 25 N (UHS) 100,000




M ox
40 5 4

©HOI2

z
1
=

- d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
HHOI2DJ1 GMPRIS XI& A 180,000 180,000 0
308 AHAIEHHSOIA 180,000 180,000 0
1132 SoHUHSBHEAEALS HI 180,000 180,000 0
OHtoI221E GMPRl & XI& At 180,000
DYMENEY AS - 4EZ N JIE 2=F 1,000,000 0 1,000,000
308 XX EHH SOl 710,000 0 710,000
113/ 2SoHUHSZAEEALS I 710,000 0 710,000
ONMMEZE A5 - =23 NF I 2H(
) 710,000
403 X SHHSA=0l& 290,000 0 290,000
02 S 2S00 CHE A= E 2 & AL H 290,000 0 290,000
ONMHENE A5 - 488 N JlY 25(
us) 290,000
Z2g8E e MAMSII A& Iy XN (HE 400,000 400,000 0
M)
308 X XIEHHSOIA 400,000 400,000 0
13 2SoHetE & X2 E A I 400,000 400,000 0
OZgY s MAXSI|I] d&J1= N X
2 400,000
HIOI2 2RSS HAAIL (HEAY) 180,000 180,000 0
308 XXM SOl A 180,000 180,000 0
N 3JN2SHUeBAEAE A 180,000 180,000 0
OHI0I2 FMSSHPAY 180,000
O%E MIutets EIb XA (HEAY) 130,000 130,000 0
308 XtXIEHHSOIA 130,000 130,000 0
3 2SOHstE & X 2 E A I 130,000 130,000 0
Ogss d2eEs &t XN& 130,000
E2E HIOIQEALY EIHOIH BEHE RH(HEA 2,000,000 1,500,000 500,000
o)
308 XXM SOIA 2,000,000 1,500,000 500,000
N 3JN2SUHUS3AHAE AR 2,000,000 1,500,000 500,000
OS=8E HoIQe ALY HHO0IH 2SS A= 2,000,000
NEES Holety =4 X 450,000 655,000 A205,000
2010l &Y =4 150,000 155,000 A5,000
308 XXM SOIA 150,000 150,000 0
3 2SO0HetE & X A I 150,000 150,000 0
OK-2127171 2Ue stz ¢ 2&s &SI 150,000
SEJ1J] ARDIY S48 XA (HEAMY) 300,000 500,000 200,000
308 MXIEHMSOIH 300,000 500,000 A200,000




A HOIQAaER A Ol A Dt
M HIOIQMYE ZELEMA 2=
Sl XGSE Bl S X CERED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
113/ 2SoHUHSZ&EAEALS I 300,000 500,000 A 200,000
O9z21J AEDIY =4 XN 300,000
dHoz=sgHil 24 X2 15,094,200 4,097,000 10,997,200
dHozEaHI =4 15,014,000 4,014,000 11,000,000
FHoAZ=SSHI 2 14,000 14,000 0
201 L2l 6,900 6,900 0
01 At 2t 2l 6,900 6,900 0
OREszy442, S)422, JAAE A
= 3,900
Oadoz=gdil SX2e FHI Yt 3,000
401 AIEHI L 2] 7,100 7,100 0
01 A& HI 7,100 7,100 0
Oz =g A s 2el 7,100
235 HOl2 A4S =4 15,000,000 4,000,000 11,000,000
403 XSS X201 & 15,000,000 4,000,000 11,000,000
02 SO 2SOICHEH A2 X 2 A I 15,000,000 4,000,000 11,000,000
O2%E HIOIQAHER ZEAY 15,000,000
=We J2 & JeY /X 2 80,200 83,000 A 2,800
=2 FXAsX s 11,000 12,000 21,000
201 L2l 9,000 10,000 21,000
03 A2 Z Hl 9,000 10,000 21,000
OdIRE HoIL st=Us 2SI 9,000
202 odl 2,000 2,000 0
01 = LH o4 1l 2,000 2,000 0
o219 & JI&2 EXsX 6l 2,000
el D12 - D1y UWERZ & 88 53,000 53,000 0
202 oddl 8,000 8,000 0
03 =220 bl 8,000 8,000 0
O=2=2¢ 4Ly 8 AHEA FA0H 8,000
301 LEd = 5,000 5,000 0
07 2BI=& 0 bl 5,000 5,000 0
Odiel N2 =2 =3 ol 5,000
308 XXM SOIA 40,000 40,000 0
N 3IN2SUHUS3AHEAE A I 40,000 40,000 0
O=2=28 daay 5 AHAEA W 40,000
E2E HME 16,200 18,000 21,800
201 et 16,200 18,000 A 1,800
01 AP 2teltl 16,200 18,000 21,800
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3,600
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> A
A & 0l & AF 2 E A A
20229 20l & LB HIOIQAH = ~ HIOIL24HH =
AT ooIuYR SN SYBHASY
M HIOIQMYE ZELEMA 2=
Sl XGSE Bl S X CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
SIESHEAS N 14,758,663 10,276,663 4,482,000
= 4,800,000
< 9,958,663
Ol ZEEAMA 2= 10,588,900 6,386,400 4,202,500
s 4,800,000
< 5,788,900
XoSs g0l |4 XE 10,588,900 6,386,400 4,202,500
s 4,800,000
< 5,788,900
SHEE FHE ATHAY =4 1,000,900 548,400 452,500
201 Let24E] 10,000 10,000 0
01 At 22l 10,000 10,000 0
OZ&=+=EH| 10,000
203 YR =&l 3,900 3,900 0
03 AIF=XH R =AH| 3,900 3,900 0
OAHH ST 3,900
306 == 907,000 454,500 452,500
01 =3 907,000 454,500 452,500
OESEHIOI2MAUHIAHOIH 2F(UHS) 907,000
308 MtXIEHSOIH 80,000 80,000 0
01 X HHBLEES 80,000 80,000 0
OLU0E &M &&3 Iy X 80,000
BN SHSAMY SH (Y - BHS ALY )(HEA 880,000 880,000 0
o)
308 XtXIEHH SOl A 880,000 880,000 0
01 AXHHILEES 880,000 880,000 0
O=2=22Z & - dH= &g sS4 Mg 420,000
Ogtguole ¢es X 460,000
sty - MHE APIMNE 235t 156,000 306,000 A 150,000
308 XXM SO0l A 156,000 306,000 A 150,000
01 IXNHHBNEES 156,000 306,000 A 150,000
OdHE AN 28 22 N NIAAMZ 36,000
Ogte - MHSHS ZEOXL Dast A 30,000
OHAMA S& M3 HLXE 90,000
stet - MASE JIBAIE 2 6,552,000 4,402,000 2,150,000
ras 4,050,000
= 2,502,000
202 044l 2,000 2,000 0
01 = LH o4 1l 2,000 2,000 0
Oetedol2 JIEtAIE 2= =& (] 2,000




A=
M HIOIQMYE ZELEMA 2=
Sl XGSE Bl S X CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 6,550,000 4,400,000 2,150,000
s 4,050,000
< 2,500,000
01 X SHMA2E X 5,050,000 2,500,000 2,550,000
OFHE NAMYEH 2= 5,050,000
s 4,050,000
< 1,000,000
02 SO 2SO0 HEHAHE X 2 E AL H 1,500,000 1,900,000 A400,000
OFAE HMH AMLUALE 2H(US) 1,200,000
OXMO g =2 ME= 28 25(H
=) 300,000
LH0IE XNAMPEE 2= 1,750,000 0 1,750,000
s 750,000
< 1,000,000
403 A X EHHSH20IA 1,750,000 0 1,750,000
s 750,000
< 1,000,000
01 XM= E L 1,750,000 0 1,750,000
OZel0lE XAMHEH 2= 1,750,000
s 750,000
) 1,000,000
NS S5 &Y SH(HIOIQA2I Y ATHAY ) (& & 250,000 250,000 0
AE)
308 MtXIEHSOIH 250,000 250,000 0
11 3J2SoHUHSI S HAE ALS I 250,000 250,000 0
Odtol At ATHII Y I&25 A& 250,000
K-FE&S E4 3,800,000 3,775,000 25,000
FEIMY SHEXA 3,800,000 3,775,000 25,000
FEIMHSHI|IE2= 200,000 200,000 0
307 21201 A 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
O&E - FEIAY S HAHEA HA 50,000
308 XXM SO0 A 150,000 150,000 0
113/ 2SoHUHSZAEEALS I 150,000 150,000 0
OREHE SEE =g & 25 NIAY 150,000
SIABRE MPAAT I (MEALY) 2,800,000 2,800,000 0
306 =3 2,800,000 2,800,000 0
01 &3 2,800,000 2,800,000 0
02022 LEHESFREIMHAMAL X 2,800,000
KA OHAE X2 (S EAL) 300,000 250,000 50,000
308 MtXIEHSOIH 300,000 250,000 50,000
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500,000

300,000
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N = 0l & At & M A

20223 & 2 0ll4F LBHSIH HIOIQ4HH = ~ HIOIQ4HE =

A= Hola= M HHOI R &HERX & It
M HAHAA HIOILSAH 4
CHel: HHolQAY DIgtx 4 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
HHOl 2 &HEHXI & 1t 15,335,721 7,631,986 7,703,735
MIAHZE HolEAAH S4 15,143,000 7,582,000 7,561,000
Ol 4 Jlgtx o 15,143,000 7,582,000 7,561,000
HHOIR I OtMSEEHX =4 130,000 69,000 61,000
201 L2l 119,000 58,000 61,000
01 At 22l 119,000 58,000 61,000
Ot & ==ZHl 8,000
O=Jtatet 222 M 45,000
Od=s gz 66,000
202 04 Hl 8,000 8,000 0
01 S LHOIYI 8,000 8,000 0
O=Jhetet HRF=A Ol 8,000
203 R =&t 3,000 3,000 0
03 A F=XH R =ZH| 3,000 3,000 0
OBIOIQAHEIHE X R HRF2A 3,000
ES HFAAZ HE(HSAY) 15,000,000 7,500,000 7,500,000
403 MtXISHH S A0l & 15,000,000 7,500,000 7,500,000
02 S 2SO HEAEE 2 E AL 15,000,000 7,500,000 7,500,000
Os= FFdA2 A8 15,000,000
S AR A g2 = 13,000 13,000 0
201 Let24d] 10,000 10,000 0
01 At 22l 10,000 10,000 0
Os= 3xdA& 20 222 HH 10,000
202 O4dl 3,000 3,000 0
01 = LH 4 1l 3,000 3,000 0
022 BFHAZ Y L QSUFBNY
f=d 3,000
AL (H0l &S X2 1) 52,721 49,986 2,735
Jl=&l 52,721 49,986 2,735
Jl2ztl 52,721 49,986 2,735
201 Let24E] 18,701 15,966 2,735
01 At 2teltl 15,966 15,966 0
OJl=+=EHtl 6,516
OJlEs I 9,450
02 2324l 2,735 0 2,735
OFAEYHI 2,495
OnV=dl & 240
202 044l 34,020 34,020 0




raox nx
f0 2 Y

D HIOI QA =2 2A : B0l AHEHX] & D}
N 2HAY| (H0| QAFEHX 2 D)
cJl2dhl

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 34,020 34,020 0
OJl20Hl 34,020
WF &S (80l ANE X & 1) 140,000 0 140,000
WEHHX S 140,000 0 140,000
HEHeH X = 140,000 0 140,000
705 Ol==&cl 34 140,000 0 140,000
04 Al - SXHHLII S0l == 0l Kt & &t 140,000 0 140,000
Os= FdA2 AHE 140,000




